<HIRED

(LR -BEEHEFHE)

236 A20H LB X EICE D E (FER-EBREHE) (BfI:H)
ETCRMHEGIEHE X .
= A = > iégj] 7 N T 1*5#%)%” 1*5#%)%”
HRIC | BIFIC i BEHE | o~om) [TEEMIFARE" o™ ng
(6~208%) | (0~4B%)
(17~20 i T | (6~22F%) | (22~6RF)
— | 2an 3.300 2300] _2.700] __1.650] _ 1.800] _ 1.650
R ARRE | R 2100] [ 2850 3350 2050 2250 2,050
— =Z 5.700 4.850]  5200]  2.850]  3.000] _ 2.850
LN AEE XEZRITAEE 7,100 = 6,000 6,450 3,550 3,700 3,550
— — N 7.900 7050 7.400]  3.950]  4.100] _ 3.950
RR | RERR | RE=>8wH=>RELEE 9.800| | 8800 9200 4900] 5100 4900
= v e 1,950 1000] 1350 1000] 1000 1,000
INEF |FFEF|PRE XPREW—ITHIFHE 2400 = 1200 1700 1200 1200 1200
L . e e 5.950 5050] 5400 _ 3.000]  3.000] _ 3.000
NEF 2 |PRE=>BE CRREH—LRIRE 7350 | 6.250] 6,700  3.700] _ 3.700] _ 3.700
NARBES L. 6 H208 LU, AB4EAIZI5| 0D EFR1,000HDFEILEICEYERINS £
I (LB BEBESHS)
F 52346 8200 UEQ T EICHOHS (T BEERE) st )
ETCER®II5|&EE >:<'_ .
by b= A NN ﬁ%}] 7 N7 3T {* E cl:#ﬁl] {* E *%EI]
HRIC | BIHIC e BRHE | o~opp) [TEEMIFRRE" o™ g
(6~208%) | (0~48F)
(17~20 ‘ ) | (6~228%) | (22~68%)
| = 3.050 2050]  2450] _1550] _ 1.650] _ 1.550
WRER| #E R4 3.800] | 2550  3.050] 1900 2000 1900
NS B4 5,450 4,600 4,950 2,750 2,800 2,750
WERR| 458 (g2 —mynue 6.800] | 5700  6.150] _ 3400] 3500 3400
— = 7.850 7050]  7.350]  3.950]  4.050] _ 3.950
.EEE 5 y y y y y
WRER| =Hm |Ra=>a 9.750] | 8650  9.100] _ 4900]  5.050] 4900
; — 7.750 6.900]  7.250]  3.900]  4.000] _ 3.900
WRETE | RHm | RE=>a 9.600] | 8500  8950]  4800]  4.950] 4800
armm| 2 |RE-PERRESTOE 6950 _ | 6,050] 6400 3500]  3550] 3,500
75 ’ X8 - BEMTIEBYE LA 8.600 7500]  7.950]  4.300] _ 4.400] _ 4.300
NABE L. 6 A20B LI, (KB4RIZIS | EE1,000HDFEIEIZEYVERINSHE
IUFLES (LR BZEHESEHE)
236 A20H LB X EICE D E (FER-EBREHE) (BfI:H)
ETCRMHEGIEHE X .
= A = > iégj] 7 N T 1*5#%)%” 1*5#%)%”
HRIC | BIFIC i BEHE | o~omp) [TEEMIFARE" 2™ ng
(6~208%) | (0~4B%)
(17~20 i T | (6~22F%) | (22~6RF)
= v e 1.950 7000] 1350 1.000] 1000 1,000
BB NEF [PRE XPREHW—ITRHEE 2400 = 1200 1700 1200 1200 1200
n . — _— 3.000 2.000]  2.400] _1500]  1.500] _ 1.500
MR REPRE=-REES LEME 3.700] | 2450 2950 1850 1850  1.850
FIE>EHS 4,650 3,700 4,100 2,350 2,350 2,350
RN AEE XEZBIFRHEE 5800 | 4600 5100] _ 2900] 2900 2900
— . 6.600 5.750]  6.100] _ 3.300]  3.350] _ 3.300
FRRTRRRN| SREE |t RE= B 8.250| 7150 7.600]  4.150] _ 4.200] _ 4.150
NARBES L. 6 208 LUE. AB4EAIZI5| 0D EFR1,000HDFEILEICEYERINSH £
FER> (LB BEBESHS)
FEr23FE6 H20B LD EEICH D€ (T TEEHE) (B [)
ETCER®II5|#&EE >:<'_ .
= i gy BE (g = o e LA BRI K B 4551
HFIC Z5BIC i) BERE (6~ 9F%) I HERE :FE/*& =35) (TRRS)
(6~208%) | (0~48F)
(17~20 ‘ ) | (6~228%) | (22~6B%)
N — 3.300 2300] 2.700] __1.650] _ 1.800] _ 1.650
el RR | R% 4100] | 2850  3350] 2050  2.250] 2,050
+ R4 3,200 2,200 2,600 1,600 1,600 1,600
| BEE |9l —mpmue 3.950] | 2750 3250|2000  2.000] 2000
2417 2 |RE>FREFE>RARE=>FIE 4,850| _, 3800 4200 2450] 2450 2,450
i ’ XA BERTIEBYE LA 6.000 4.750]  5.250]  3.000]  3.000] _ 3.000
B4 2,150 1,100 1,500 1,100 1,100 1,100
ied
B ATEE (e —miynue 2.600] 1300] 1800  1.300]  1.300] _ 1.300
; et e ” 6.000 5100]  5450] _ 3.000] _ 3.000] _ 3.000
7<= .lll %/Ri i%zirﬁfﬂ'lj(:irﬁjtﬂiﬁzjtﬂiﬁ 7,450 = 6,350 6,800 3’750 3’750 3’750
NABE L. 6 A20B LI, (KB4RIZIS | EB1,000HDFEIEIZEYVERINSH £
<ERNE> (LR BZEHESEHE)
236 A20H LB X EICE D E (FER-EBREHE) (BfI:H)
ETCREHEGIEHE X .
= A = > iégj] 7 N T 1*5#%)%” 1*5#%)%”
HRIC | BIFIC i BEHE | o~om) [TEEMIFARE" 2™ g
(6~208%) | (0~4B%)
(17~20 i T | (6~22F%) | (22~6RF)
— 5700 4850]  5200]  2.850]  3.000] _ 2.850
BEE | RR |RE 7100] ~ | 6000] 6450 3550  3.700] 3550
— 3250 2250]  2.650] _ 1.650]  1.700] __ 1.650
BB | mHEm |Ra = & 2000| | 2.800]  3.250] _ 2.000] 2100|2000
: . . 6250 5400]  5.750] _ 3.150]  3.400] _ 3.150
BB | B (Re = &% = SEE = WSE 7800] 6.750]  7.150] _ 3.000]  4.250] _ 3.900
: N ” 4650 3.700]  4.050]  2.350]  2.350] _ 2.350
2R | € RE K4 = 2@ = HElEE =>4kEE =750] = 4550 5050 2900 2900 2900
— 4150 3.200]  3.600]  2.100]  2.350] _ 2.100
2B | BHE |Ra = & 5150 | 3.950| 4450  2.600] _ 2.900] _ 2.600

XKAR#ARST L. 6 A208 LA, KB4 5IEI51 D ER1,000MDEIEIZIYEESNSHE



ZER

(LB BEEHEFHE)

ER23FE6 A20HLIBDFEICH D £ (FER-EBEHE) =T EEvees (B[
ETCHREHIG|IZEE X
HFIC | BIEIC 508 maene| | B gpgm e REEHREE
(6~98F) | L ~ - (BR) CA5)
S——— (17~20 | (6~208) (0 455 | (6~22) | (22~68%)
s FEE = 3El 1,600 800 1,100 800 800 800
= & B XEZBIZRIEE 1950| 1,000 1,350 1,000 1,000 1,000
s wx |FPE = RElRE > FREFE > R4 7,300 _,| _ 6.400] 6,750  3650]  3,800] 3,650
! - XEZ _EBRHETEHYEEA 9,050 7,950 8,400 4,550 4,700 4550
e R R L L e i e e e
; = |RaRkE = F2IZTEE > Ef 6,800 5,850 6,250 3,400 3,550 3,400
mAMH | 'R 7 =
X2 —BEETEHYTEA 8,400 7,250 7,700 4,200 4,350 4,200
- - . 2,050 1,200 1,550 1,050 1,100 1,050
mAW | R#E (\RERE = HEE > L6 2550 | 1450  1.000]  1.300]  1.350]  1.300
NKARE L. 6 B208 LIRS, KB HERIZEIS| D EFE1,000MDREILEICEYERINSR £
<l B 12> (LR - BEHEFHE)
236 A20H LB X EICE DEE (FER-EBREHE) TR T (BfI:H)
ETCHRE®aI5IZHE X _
Hj%IC EU%IC ﬁﬁ% ﬁ-‘%‘-*_l_% iégj] EFE'EFEﬁ EFE'/?TE& 1*5#%)::.!“ 1*5#%)::'!“
(6~98%F) | 7. = - =3i5)) (&)
(17~20 |® 208%) | (0~4B%) (6 2285) | (22~ 68%)
i Rl e 2950 = 5500l 3300 490041504300
axenn| SRR [RELEE ~ Lok s
REAR| R |RELEE > £ > RE 3500 = 500l 5200 4500l 5T00] 400
RWAR| —8 |wsils - 4% 5 50| = [ Faso] 50| Teoo] Te00] 0o
e - = 1l R 5,350 4,450 4,800 2,700 2,900 2,700
RERR| #E | RBikEE = & 6.650| | 5550 6000  3.350]  3.650]  3.350
HKAZRE S IE. 6 B20B8 LIRS, KBHAIZEIS D EFE1,000MDFEILEICKYERINSR £
<EWERE> (EER-BEHESEHE)
Tri23FE6 A20B LD X EICE DS (TR EZ@FEHE) RS TEES (Bfz:[)
ETCEMmIIGI#EE X
HRIC | BIHIC 288 Eape| | BY gage|gape| KB KER
(6~98F) | L ~ - (BR) CA5)
(17~20 |© 208%) | (0~4BF) (62085 | (29~ 68%)
s | g5 [tEE=>RELEE=>AMH=RE 4,750| _, 3800 4200 2400] 2400 2,400
= X2 —ZIFRIEE 5,900 4,700 5,200 2,950 2,950 2,950
= - o 5,500 4,650 5,000 2,750 2,800 2,750
Bl | mEE | LEE=AE 6.850] | 5750  6.200] 3450 3500 3450
= | AEF |dthEs HESE-EREsEREs thRE LI - 0908, 0798, 0002003 5.8
B | R | 5.do0| = 42504700 230027002700
- - - - 8,500 7,700 8,000 4,250 4,500 4,250
=l R |dEkEE =4 = EE = LSE 10600] | 9.600] 10,000  5.300] 5600 5300
XABE D IL. 6 A20B LIE. ABHAIZEIS|I D EFE1,000HDFEILEIZEYERINS¥ £
<EJIR> (LB BBBESEME)
236 A20H LB X EICE D E (FER-EBREHE) - TS (BfI:H)
ETCEB®IEIZEE X
HEIC | FIFEIC R BEHS EEf TRERM|TaEE RAB AR B %5
(6~98%F) | 7. - - =3i5)) (&)
— (17~20 |® 208%) (o 4B%) (6 2285) | (22~ 68%)
: tiEE=>REEE>REEA 4,650 3,700 4,050 2,350 2.350 2.350
BRR | &R X2 —IRIERIE S 5,750 = 4550 5,050 2,900 2,900 2,900
. — o 4,700 3,850 4,200 2,350 2,400 2,350
®RR | mEE | LEE= 5 5,850 = 4,750 5,200 2,950 3,000 2,950
sRE | my [tEE>RBILEESRERKE= 9450 _, [ 8600 8950 4750 4850 4,750
! T | EBRERESERA 11,750 10,750 11,150 5,900 6,050 5,900
. . son 5,100 4,250 4,600 2,550 2,550 2,550
FRR | HRE LS 6,350 = 5,250 5,700 3,200 3,200 3,200
. . . a- 7,700 6,900 7,250 3,850 4,150 3,850
ERE R kB = A= R EE = ILSE 9.600] 8,600 9,000 4,800 5,150 4,800
HKARZREIE. 6 B20B8 LIRS, KBHAIZEIS D EFE1,000MHDFEILEICKYEREINSR £
ABHE> (EER-BEHESEHE)
ER23FE6 A20HLIBDFEICH D E (FER-EBEHE) (BEfr:[1)
ETCER®wII5|#&EE >:<'_ .
HRIC | BIHIC 288 Eape| | BY gagme|wape| KB KER
(6~98F) | L ~ - (BR) CA5)
(17~20 | © 208%) (o 48%) (62085 | (29~ 68%)
o | ann [ o o e
_ - o 3,500 2,550 2,950 1,750 1,800 1,750
& | i | LEE->Am 4350 | 3150]  3650] 2200  2.250] 2200
ma | gug TEE=>AW=>RA 3400[ [ 2450[ 2800 1,700]  1,700] 1,700
= X _RITRE 4,250 3,050 3,550 2,150 2,150 2,150
_ - o 8,250 7,450 7,750 4,150 4,250 4,150
@ | RER | LEE-fw-R4A 10300] | 9.250] 9700]  5.150] 5300  5.150
_ o . o 6,550 5,700 6,000 3,300 3,550 3,300
@ | B S-S = hEE= LSS 8100 | 7050 7500 4050]  4.400] 4050
NKARE L. 6 B20B8 LIRS, KB HERIZEIS| D EFE1,000MDREILEICEYERINSR £



